N of reco track vs dxy

N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

(%] - %] [%]
s ] ]
8 g g
Q0'F g o
5 kel g
i s
L © 10
10°F
1 10%
10?
Lo — retrain
3 DOM | man TTold
= : = \"\ \ U” o oFllT-- 2
0.9) [ ‘ \‘
L : ” 0.8F
EZS -20- 15 10 5 0 5 10 15 20 25 09525 20 15 10 -5 0 5 10 15 20 25 0'—'25—20—15—10 -5 0 5 10 15 20 25 -25- 20—15 10 -5 O 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L L 2
[=} [=} [=] [5)
g g S s
[ Q Q
=] X =1
1 = ] 8
s
© 10
10° 10°
1
102
o 1 il
g iw S5
L il -
0.95! : L ’ > 0957 2 : L : > -
=30 -20 -10 O 10 20 30 =30 -20 -10 0 10 20 30 -30 -20 -10 0 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


